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OgZ2cld UHE AELZ A
40,0003 100 #23| 8,000
oY WS ANLAA My
400,000& x2H x23| 1,600
OsFB2AY MWE HFLY
200,000& x3H +23| 1,200
oszBAY WE LEag
100,000 6H »23| 1,200
02 3323l 491,500 381,500 110,000
Ooxg |F4l 9,090,900 »33CH 300,000
Oxtg =&t 100,000
OXNeEEE= 1,500,000& »33CH 49,500
OEOIH 2 M 2,000,000& =13CH 26,000
OA&E&Hl |XHI(0ISACCTV)  500,000+32CH 16,000
202 O4dl 30,800 23,100 7,700
01 = LH 4 1l 30,800 23,100 7,700
OFAHE FRFA ot 23,100
OFLHMEY HAX AU (HF22H)
100,000%77H 7,700
206 M= Hl 203,775 188,875 14,900
01 M2 4l 203,775 188,875 14,900
Ogtdllsta E4AE5 2 4,000,000& 43| 16,000
oMl RnA=E ¢ 85% *1,800,0000H 153,000
o3 axtgd 485 #& 8,000,000& 24 16,000
OXgJIEENSE thes2as 7Y
775,000& *5H 3,875
OFZHESE s &4XE =HE
298,000 504 14,900
303 &= 1,000 0 1,000
01 Z& = 1,000 0 1,000
oY szacld T3 100,000& 10 1,000
308 XXIEHH S0 A 376,320 291,000 85,320
07 XXSHM2ARES 376,320 291,000 85,320
OHIIEXM==RES3 15% *24,500,000kg*1.024 376,320
401 Al BIZ 201 8] 140,000 20,000 120,000
01 A& HI 140,000 20,000 120,000
OF2UEH ol &t 110,000




2M: 83
HH: Clean & =4
el HAME DL
= - - SHE|
SN FHE - B(SA) - MEAY - BHES e
S HIE A2 2EHEI &S CCTV X
5,000, 0003 24! 10,000
= Al otEH EYHEI = CCTV X
5,000,000& =164 80,000
SES EYSTI &= CCTV &X
5,000,000& =44l 20,000
O #Zdzeld a3 (a2 2AMZ Ag) 30,000
405 XH&HE S HI 314,510 152,000
01 AL EFFHSH 314,510 152,000
OMEHI=S =AXg ¢
126,000, 0002 = 1CH 126,000
OMEE=HXE KM +& 70,000,000 = 1CH 70,000
OSAMExNXE UM ¢
118,510, 0003 * 1 CH 118,510
Mo BEEH MAXNYG =AHHE XA 6,000 6,000
201 Let24dy] 6,000 6,000
01 At 2teltl 6,000 6,000
oMl SEH MAXS Med|l MeldlE X
2 Y HFLEE 7Y 1,200,000 *5JH 0t = 6,000
St 2R MY I =HALZ 104,286 104,286
= 73,000
Al 31,286
101 1A Hl 101,330 101,330
= 70,931
Al 30,399
M4 JI12ZHZEXNSES 101,330 101,330
OotE Mgl ZstAre el 101,330
= 70,931
Al 30,399
201 L2l 956 956
= 669
Al 287
01 At 2t 2l 956 956
OFAzZdE 22 (HIR, &3, 224 S) 956
= 669
Al 287
202 oddl 2,000 2,000
= 1,400
Al 600
01 = LH o4 1l 2,000 2,000
OotEa M Dl HatA Ol 2,000
= 1,400
Al 600
AL StR2MY D ALY K 35,892 70,554
< 17,946




s
: Clean €& =4
Hrgmeel CERED
= - — SHE|
SN EE B (BH) - HRAY - BES e Hl D= 2t
Al 17,946
308 AXIEH S0 A 35,892 70,554 A 34,662
< 17,946
Al 17,946
07 AXSHM2ARE S 35,892 70,554 A 34,662
Od&lZ st2M4e D A 35,892
< 17,946
Al 17,946
Hass =8 4823 N2 1,430 840 590
< 429
Al 1,001
201 et 1,430 840 590
= 429
Al 1,001
01 At 22l 1,430 840 590
OorZ =0, A8 s S EH X3 1,430
= 429
Al 1,001
HII2 & 1,225,937 556,713 669,224
= 203,800
< 175,556
Al 846,581
Heesszels=H/AEgs 34,750 34,750 0
206 M= Hl 34,750 34,750 0
01 =8l 34,750 34,750 0
oNesEs =M E0tl 7 12,000& »7000H 8,400
omgegs =AH 18% 4,000& =1,0000H 4,000
OHAMI WEAY MYDIISE
60& *30,0000H 1,800
OHAMX =HE 50,000& =154 750
OHEZSE +HE(HES) 24,0002 254 600
OMegEzel=AHE 200,000& =164 3,200
Os=sdlg =g 400, 000& *4004 & 16,000
SEHHE =HEAZ A& 180,000 150,000 30,000
= 18,000
< 18,000
Al 144,000
301 LEBEAZ 180,000 150,000 30,000
= 18,000
< 18,000
Al 144,000
12 JIEtE4 3 180,000 150,000 30,000
OsZHHE =H1284= 180,000
= 18,000
< 18,000




2M: 83
HH: Clean & =4
S HIIE T (&)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
| Al 144,000
Ss&otY && AN3AY X3 36,000 50,000 A 14,000
= 10,800
Al 25,200
401 Al HI R 201 I 36,000 50,000 A 14,000
= 10,800
Al 25,200
01 A& HI 36,000 50,000 A 14,000
ssdoty &35 & 36,000
= 10,800
Al 25,200
Mes sUbtYy dXIAY 100,000 90,000 10,000
401 Al HIZ 2018 100,000 90,000 10,000
01 A& HI 100,000 90,000 10,000
oMgsg sultte dXAY
20,000,000& = 50 A 100,000
SULY A2 =AHEAH XA 15,347 10,963 4,384
< 4,604
Al 10,743
301 LEHZ 15,347 10,963 4,384
= 4,604
Al 10,743
12JEEd= 15,347 10,963 4,384
OsY% BIEJIR =HEAZ(EAA2ER9,208kg
S X F167ka) 15,347
< 4,604
Al 10,743
Hessg Zels=AH uass 7¢ 12,000 5,000 7,000
< 3,600
Al 8,400
206 M= Hl 12,000 5,000 7,000
< 3,600
Al 8,400
01 M= 4l 12,000 5,000 7,000
OsaX . ZMNEE 7Y 12,000
< 3,600
Al 8,400
Meg 20t Hoilg del X 60,000 150,000 290,000
< 18,000
Al 42,000
201 et 59,000 149,000 A 90,000
< 17,700
Al 41,300
01 At 22l 59,000 149,000 290,000
OMgE=I EsHII=E Hel 59,000




SN BFD
HH: Clean & =4
S HIIE T (&)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
< 17,700
Al 41,300
202 O4dl 1,000 1,000 0
< 300
Al 700
01 = LH 4 Hi 1,000 1,000 0
OMEEESI HIIS2 HEEE 2 NE 1,000
< 300
Al 700
MEHIE HE HEAM4d 4X X2 210,000 60,000 150,000
< 63,000
Al 147,000
401 Al HIZ 201 8] 210,000 60,000 150,000
< 63,000
Al 147,000
01 A& HI 210,000 60,000 150,000
OdEHIIZ HE BHEAME &X 210,000
< 63,000
Al 147,000
Meg suUotY dXArg 150,000 0 150,000
= 75,000
Al 75,000
401 Al HI L = TH I 150,000 0 150,000
= 75,000
Al 75,000
01 A& Hl 150,000 0 150,000
Ofgsg sutg XA
15,000,000% 1074 2~ 150,000
= 75,000
Al 75,000
HeEEE 22tz =R0IAMd 177,840 0 177,840
< 53,352
Al 124,488
101 Q1 24l 175,840 0 175,840
< 52,752
Al 123,088
04 JIZHHZ2Z2XNSE+ 175,840 0 175,840
O=cltiE =0 E= 175,840
< 52,752
Al 123,088
201 et 2,000 0 2,000
< 600
Al 1,400
01 At 22l 2,000 0 2,000
O=s&Hl, I=sdl s X& 2,000
< 600




2M: 83
HM: Clean & =4
S HIIE T (&)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
| Al 1,400
18188 = Hel ZEAMY 50,000 0 50,000
< 15,000
Al 35,000
201 £B-2dH| 49,000 0 49,000
< 14,700
Al 34,300
01 At 22l 49,000 0 49,000
OSRZTNA & QHEE X2 43,000
< 12,900
Al 30,100
o188 &0 222 M=% 6,000
< 1,800
Al 4,200
202 O4dl 1,000 0 1,000
< 300
Al 700
01 = LH 4 Hi 1,000 0 1,000
Oz gsME 8883 € Xk 1,000
< 300
Al 700
METAS HEHES(SSHEALSEUE) 200,000 0 200,000
= 100,000
Al 100,000
401 A& HIZ 2018 200,000 0 200,000
= 100,000
Al 100,000
01 A& HI 200,000 0 200,000
SUHEY ESHdEALE X 200,000
= 100,000
Al 100,000
SAZ2F HoI2 22l 5,050 5,050 0
SASF HII=22 5,050 5,050 0
201 Let2d] 5,050 5,050 0
01 At 22l 5,050 5,050 0
OSAEMYI EE22HE
200 10,0000 x23] 4,000
OLPGHHA(HESE SAl2 =8 H=8)
35,000& x30= 1,050
HIIE2 M2lAd 2F 2l 1,466,498 1,691,624 N 225,126
= 13,000
Al 1,453,498
ZAMES JlHE dEAE 29 537,136 497,206 39,930
101 @124 dl 475,736 437,006 38,730




SN B
M. Clean & X4
el HII2 MMM 29 2l (ol @)
SH-HH . B(SH) - HBAMY - B2 ofl &t o SSa HDE2
04 JIZtHIZ2E2XNSE S 475,736 437,006 38,730
olggsddg oy 443,798
==l 73,2803 x16Y x247L 289,603
EY 9,160 x4 Al 2Hx1 5% 162 x20L 17,588
e R 73,2803 16 67 78,557
A 73,280%x16%H 12 14,070
AEE = 399,818,000& *11% 43,980
OANESIGEZX 28 30,738
gy 81,2003 x1H =247 20,057
ERY 10, 150& *4 Al 2tx1 . 5%20L 1,218
Ra3sLrH 81,200& x1H »67L 5,441
A X G 81,200 x1H » 12 975
AEBE = 27,691,000%11% 3,047
OZ2dMesddAld JI2tHZ2 2 A 24X =S|
300,000 4 1,200
201 2yt 2 Y| 40,800 39,600 1,200
01 At 2t2l ] 7,800 6,600 1,200
OdgAd Ro1FH| 100, 000& * 1200 & 1,200
Odet=gH| 3,000
OHEAY MI|otEzZe a2
200,000& x12& 2,400
O/tPEMEHHO| 2t HHEEHESEH|
600, 000& *23| 1,200
02 53294l 33,000 33,000 0
OHN8ANE =23 10,000
OA&E &Yl |Xbl 23,000
206 M = dl 20,600 20,600 0
01 24 20,600 20,600 0
OMEEE |28 224 7Y
2,300 x4 ,000kg 9,200
ONgAd 2el=H0It 2 15,000 *6002& 9,000
o= (BF S) 24X 2
1,200, 000& *23] 2,400
s 29 788,112 1,194,418 N 406,306
101 @121l 130,678 121,656 9,022
04 JI2ZtH 22 XNEE S 130,678 121,656 9,022
OAMEE F=0ZAIA 22N 57,306
Ho 73,280& x2H #2247 36,201
ERY 9,1603 x4 Al 21 . 5x2H x51L 5,606
S22 73,2803 x2H x67 9,820
L 4E2EEE 51,627,000& *11% 5,679
OUAMMEE HEHII=E 282 53,036
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2 A
& Clean &€& =4

S HIIZE MelAE 2% 22l (=& J)
(o
SN HH-S(BN) - MBAY - B 0l &t o8 il HlnE2
=h= 73,2803 x2H x247 36,201
resgdsE 73,2803 x2H +67 9,820
A< 73,2803 x2H 12 1,759
I2E = 47,780,000 x11% 5,256
OUMMHEE ¢ & M= AR 20,336
== 73,2803 *x2F 100 14,656
FesdsE 73,2803 x2H 25 3,664
JHEE R 18,320,000& *11% 2,016
201 et 162,434 155,762 6,672
01 AtR 22l 92,346 91,146 1,200
O&E4 MY
330,200 123/ +330, 200& *43] 4K & 9,246
OZAE Hi M= =& & Atdl 3,000,000 43| 12,000
OXE= =ZZ A 6,000,000& »23| 12,000
OAMNEs2 HEE KXY 1,375,000 *40H 2~ 5,500
OMNBSEE HEE BAHI (=2 E)
10,000,000& «4H 2 40,000
Omga2d s &l 10,000
OUAHEHE dojetd e e+ 2
200,000 1200 & 2,400
OUAHEHE 23| 100,000& =128 1,200
02 3323l 70,088 64,616 5,472
O IS 2,100,000& 1201 & 25,200
Ofg & atel Al &Edls Xl 23,000
OMEZ &&= ol=% AHAXE MEZ
1,520& x1=+1,200=+120H & 21,888
206 T 24 35,000 35,000 0
01 MHZ 4l 35,000 35,000 0
OMg & &dts 2 40,000& *270& 10,800
Olfg® 227 (227 S) 2281 7€
800,000 *43| 3,200
OMgE dz CHaMAe 2
10,000& =2, 100 m* 21,000
401 Al HI L 2 T 460,000 354,000 106,000
01 A& HI 457,723 352,290 105,433
OUHMMHEE SET SH2AY
10,000, 000& *53] 50,000
Oz =80t XNJAY
90,000,000& *99.07% 89,163
OANESEE MEE FHSHIS SEXIA
60,000,000& =14l 60,000
O AIESE HEE SS9 243 A
400,000& *75m 30,000




2 A
& Clean &€& =4

Selr HIIZE XMelAdE 2 2d (&)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
OUHMIMHEE MBS 72 X LI SA
8,000& *25,000m* *99.28% 198,560
OHE+ SYZHE AHMEY 89
20,000,000& =14 20,000
Ogd NI =& ASS(AHSDEEEMEII)
H 10,000, 000& 14! 10,000
03 AIE 2 THHI 2,277 1,710 567
Oz =80t NI ALY
90,000,000& *0.93% 837
OUANEE 48 g2 EXSA
200,000,000%0.72% 1,440
HIISM2AIE SF(L2A4H) 115,250 0 115,250
201 £B-2%H| 5,250 0 5,250
01 At 22l 5,250 0 5,250
OX2ANE RNEFAJS =
70,0003 »15& x53] 5,250
301 LeIBAF 10,000 0 10,000
09 SALEHIX A S 10,000 0 10,000
OEAIZ A2EAIE HEX A& (8l2hol)
50,000& x50 x4 2 10,000
401 AIEHIZL 2CHYI 100,000 0 100,000
01 A& Bl 100,000 0 100,000
OA2ASE AXNBZX YXEIYE TAB
40,000,000& =10 A 40,000
OAZNE HFXY HBHALSHI 8%
60,000,000 104 & 60,000
HeEE SEMNA XNJAAS 26,000 0 26,000
= 13,000
Al 13,000
101 @124l 26,000 0 26,000
= 13,000
Al 13,000
04 JI2ZtHZ22EE = 26,000 0 26,000
OMEES SEME XNEAY 26,000
= 13,000
Al 13,000
MEAHES 537,262 219,339 317,923
= 58,381
= 15,277
Al 463,604
OriiE Bt 537,262 219,339 317,923
= 58,381
< 15,277
Al 463,604
Or == I off Ol 2 AFE 72,762 60,000 12,762
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2M: 83
M MHAES
Sl oMM A (B9 ®R)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
= 36,381
< 12,127
Al 24,254
402 RI2EX20| A 72,762 60,000 12,762
= 36,381
< 12,127
Al 24,254
02 U2 TEALEZ(0IETHR) 72,762 60,000 12,762
OOt == OIaH oA 72,762
= 36,381
< 12,127
Al 24,254
oHM=E= 64,000 46,000 18,000
201 Let24d] 6,000 6,000 0
01 At 22l 6,000 6,000 0
O&ED EXM 7 10,000& 100K 1,000
Ondss »x8s 83 7¢
500,000& =104 5,000
207 & O & H| 18,000 0 18,000
01 2284 18,000 0 18,000
OE&A OtMME E57Y HIZX 01822
c 24 18,000
301 gEEd = 40,000 40,000 0
12 JIEHE4 = 40,000 40,000 0
ORMNOIMESE ZEBAZ(AUANSEZE L I
off & Xl EH) 30,000
ONtdESE XU &=l 10,000
O S=Ilol 2 &AL 31,500 35,000 A 3,500
< 3,150
Al 28,350
301 LEEXZ 31,500 35,000 A 3,500
< 3,150
Al 28,350
12 JE2d = 31,500 35,000 A 3,500
OOt == HId SE&AS 31,500
< 3,150
Al 28,350
2F RJIE SEES =4 44,000 44,000 0
= 22,000
Al 22,000
101 @14l 10,000 10,000 0
= 5,000
Al 5,000
04 JI2ZtHZ22EE = 10,000 10,000 0

_23_




2AM: 2F
Al

HE: MEfHES
el OFMME o CER-ED
- _ _ RE]
SA BB (SH) - NRAY - B Ol At o %@ﬁ HRE2
o=sgs2+H 10,000
= 5,000
Al 5,000
201 et 10,000 15,000 A5,000
= 5,000
Al 5,000
01 AP 2t 2] H| 10,000 15,000 A5,000
OMEFE 28 2 10,000
= 5,000
Al 5,000
401 AIEHI 2 201 Y| 24,000 19,000 5,000
= 12,000
Al 12,000
01 Al&H| 24,000 19,000 5,000
OZ=I|M2 ToHo AL &R 24,000
= 12,000
Al 12,000
OFZECIotEHNIEY Sg Xl AFAIA 2 25,000 34,339 N 9,339
201 LBt | 5,000 28,200 N 23,200
01 AP 22| d| 5,000 28,200 N 23,200
OMHMXe 28 7 5,000
301 et ™M= 20,000 0 20,000
12 J|EtE A= 20,000 0 20,000
OAFHIOl & HI 50,000& 4000t 2| 20,000
S AME SEXE 25 300,000 0 300,000
207 SO0 £ 300,000 0 300,000
01 A 300,000 0 300,000
OZANMEEEXNE =5 24
300,000,000 = 1Al 300,000
Xl ok 22| 93,500 75,500 18,000
o=t 3,600
Al 89,900
X< Kot dSALE(BEXH=2) & 81,500 75,500 6,000
XXty 2ESAE(EZ2SY)LE X 81,500 75,500 6,000
201 et 9| 6,000 0 6,000
02 232%H4| 6,000 0 6,000
OXIotS: ZEAE(EZZH=Y) SXES
200,000 *300H A~ 6,000
401 AlEHIZ 2 0HY| 75,500 75,500 0
01 Al& B 75,500 75,500 0
ORXIotys ZEAE(EZ =)L H=HH|
Q OoHLHEF Rl 2 MAX| 15,100,000 «5JH A 75,500
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2AM: 2F

g Xlot=22
el Xsta HIB B4=T K CEEEED
SA - BB B (EH) - NRAY - BES of & o SSa HI D2
Aot XS =7 X 12,000 0 12,000
< 3,600
Al 8,400
Aot XS Bad=s7 N 12,000 0 12,000
< 3,600
Al 8,400
401 AIEBIL 2 CHEI 12,000 0 12,000
= 3,600
Al 8,400
01 A€ HI 12,000 0 12,000
Ogx &2 =7 N2
2,000,000 6K £ 12,000
S 3,600
Al 8,400
HE2HZH (22 ) 5,568,920 4,173,531 1,395,389
Iy (a& ) 5,544,260 4,148,931 1,395,329
ol A (&) 5,544,260 4,148,931 1,395,329
101 @124 4] 5,493,043 4,148,931 1,344,112
03 SRA(RIAHS)Z2HE = 5,493,043 4,148,931 1,344,112
Otz 2eld (72% , 154 01 8t) 5,493,043
e 2,469,000 72 x 128 2,133,294
d2=€ 2,469,090 »72H x50%+*23] 177,775
F2=gotita 110,000& »72H »12& 95,040
HE=E (R 40,0002 x65H x 12 31,200
= (O1EH 20,0003 *90H 12 21,600
HE=E(21Y) 60,0002 x36H « 12 25,920
==L (3RY) 100,000& 218 122 25,200
g 125,000 728« 12& 108,000
=g 100,000& 72 x12& 86,400
A g A 170,000& »72F ~12& 146,880
S E F O 2,469,090& »22| x72H +60% 213,330
NEEEE RS
14,9753 x1.5+72H = 13A 2t x 123 252,299
ofAIR4Y
14,9753 %0.5%2A| 2tx30H 20 8,985
e
119,800& »1.5+72& 52 x 12& 776,304
Adsesst=g 119,800& »72H 10 86,256
f¥+E 100,000 12 =122 1,200
ERSECES) 70,0003 x»4H x 12 3,360
EAs SAHF 100,000,000 =1 100,000
gx3 200,000,000& 6 1,200,000
304 GZREBS 51,217 0 51,217
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2M: 33
H: BHSYFU(BFD)
Srel: ol (2A D) (ol @)
5 - 4
SA BB (SH) - NRAY - B Ol At o %@ﬁ HRE2
04 22X (LI HL)2 2DV BEIIBY=2SE 51,217 0 51,217
Ot 5,536, 171,000 *0.889% 49,217
Ostd 22| X2Hl XN (HF0ls 24
50,000& x40H 2,000
Jl2ZH (22 ) 24,660 24,600 60
Jl2dd (22 ) 24,660 24,600 60
201 LBt Y| 15,000 15,000 0
01 AP 22| d| 15,000 15,000 0
OF=1=1:] 15,000
203 €2 F=&d| 9,660 9,600 60
04 EANSIELR2F=XH| 9,660 9,600 60
ORMNSI Y28 9,660
MEEs(2d) 295,556 290, 256 5,300
WEAHA XK= 295,556 290, 256 5,300
IadsE3 295,556 290, 256 5,300
702 1282 295,556 290, 256 5,300
01 I=2d=23 295,556 290, 256 5,300
OHJIZ2H2AY XIS (MrYII2E =
CHOHCH =) 1,232,948,440& *10% 123,295
OSASHIISHEAY FXKAI2(SASE
ZHHOH =) 222,603,600& *10% 22,261
QHJIISHEIAIY FOUXNKAINS(EE2) 150,000
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